Name ______________________________________________
Math 2170, Exam Ia, Spring 2006
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apparently, this question was a bit ambiguous.  Nearly everyone did this as 
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, but the question was originally written as 
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.  I’ll solve it for the key both ways.
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3. For the integral 
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, first calculate the number of subdivisions n that will be needed to have an Error using Simpson’s Rule of less than or equal to 0.001, and then calculate the value of the integral using that method.  Both formulae are given to you.
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8. Find a general solution to the differential equation 
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.  Then find the particular solution for the initial condition y(2)=5.  You may estimate your constant to two decimal places in the final step.
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9. Determine if the following differential equation is homogeneous, and if it is, state its degree, and solve for the general solution by making the substitution y=vx.
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10. Perform three steps of Euler’s method on the differential equation in problem #8 (on the previous page), starting with (2, 5) and using a step size of 0.1. Then compare your final answer to the answer you would get using your last point (x3, y3) in the particular solution from problem #8.
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[ln(2.3)]2+1.13=1.82=ln y
y=6.2
similar but somewhat off

11. Find the general solution to the first-order linear differential equation 
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12. Find the area between the curves 
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.  Be careful of possible intersection points of the graphs.  Be sure that the area you report is positive.
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